

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

		nationale Des Experts En Automo	
FIRST CAPITAL INS	JRANCE LTD	Ref : CS/FCI17023563	
		100 : 00/F017023563	AID
ROBINSON ROAL)	Data : 40.40.00.00	A STRUCKUR AUGUST AND AN AN
FIO-OF CITY HOUSE	SINGAPORE 068877	Date: 12-12-2017	
		Code: FCI2	
	Policy Particul	ars :- THIRD PARTY CLAIM	
Insured Veh.	SHA 5217J	Veh. Inspected	SLL 6990Y
Policy No.		Coverage (\$)	0.00
Claim No.	D17011371MFSH	Excess (\$)	0.00
Assign From	CWS (JOANNE YONG)	Assign Date	12/12/2017
	Vehicle Pa	articulars & Condition	
Make & Model		c.c	0
Engine No.	HIDDEN	Year of Reg.	
Chassis No.		Colour	
Odometer	_	Steering	
Brakes		Modification	
General			
	- Cond	litions of Tyres	
	Size	Make	Balance
R/H Front Tyre			mm
L/H Front Tyre			mm
R/H Rear Tyre			mm
L/H Rear Tyre			mm
	Qescrip	tion of Damagee	
			The second second
Endina No	MUUEN W. Sec Gener	al,Information	Anny mining to the Anny mining, and a superior to the superior
	09/12/2017	Inspection Date	
Survey held at	51 DEFU LANE 10	mopeotion Date	
Repairer	PEGASUS ENGINEERING & 7	RADING PTF LTD	
General	The state of the s		Company of the state of the sta
IATIBL INSPECTION	WAS CONDUCTED ON ASSET	Remarks	Control of the Park State of
B)IN ACCORDANCE	TO YOUR INSTRUCTIONS, V	THOUT PREJUDICE" BASIS. VE HAVE NOT AUTHORISED R	FPAIRS

First Capital Insurance Limited

A FAIRFAX Company

Company Reg. No. 195000106C GST Reg. No. M2-0001676-9

MOTOR SURVEY ASSIGNMENT

Date

11-12-2017

Our Ref No. D17011371MFSH

Accident Date

09-12-2017

Claim Type. Third Party

Insured Vehicle

SHA5217J

Third Party Vehicle. SLL6990Y

Survey Location

51 DEFU LANE 10

Contact Person.

ALVIN LOW

Contact No.

68581846/0

Fax No. 64876070

Survey Type

DIRECT SETTLEMENT:

Appointed

Surveyor

LKK AUTO CONSULTANTS PTE LTD

Contact Person

NA

Fax No. 68416315

Contact Number.

NA

FOR DIRECT SETTLEMENT

Please submit to us the Tax Invoice together with letter of claim for Rental OR Loss of use (based on NIMA Benchmark rates) together with your survey report.

THIRD PARTY SURVEY REQUEST

Cc: Workshop

PEGASUS ENGINEERING

& TRADING PTE LTD

Attention, NIL

Cc: TP Solicitor

NA

TP Solicitor Fax No. NA

Officer Incharge

JOANNEY

IMPORTANT NOTE

Kindly submit the survey report via CWS within 14 days for survey assignment and 7 days for re-inspection.

This is a computer generated letter, no signature required.

. 1	· · · · · · · · · · · · · · · · · · ·				k
Job Sheet (/C	laimWS/Surveyor/JobSheet/2	231693) 🚣 PR	Documents Close X		
		, , , , , , , , , , , , , , , , , , ,	PRI Header Details		
Claim No	D17011371MFSH	Policy No	D-15072701MFSH	Claimant S.No & Name	1 & PEGASUS PTE LTD
Workshop Name	PEGASUS ENGINEERING & TRADING PTE LTD (Contact Person : ALVIN LOW)	Survey Location & Contact Details	51 DEFU LANE 10 Mobile: 0 , Phone: 685818 EmailId: CLAIMS@PEGASU		
Our Surveyor	LKK AUTO CONSULTANTS PTE LTD	Instructions To Surveyor	DIRECT SETTLEMENT:		
Insured Name	COMFORT TRANSPORTATION PTE LTD	Insured Vehicle No	SHA5217J	TP Vehicle No	SLL6990Y
PRI Recieved Date	11-12-2017 04:00:02 PM	Surveyor Appointed Date	12-12-2017 02:08:42 PM	Surveyor Accept Date	12-12-2017 0
			Survey Report Upload		
Surveyor Inspection Date *:	id li i.	Surveyor Report Date	12-12-2017	Upload Survey Report *:	Choose File
<u> </u>		F	Vehicle Particulars	-	
Make	Please Select Make ▼	Model	Please Select Model ▼	Year	Select Year ▼
Chasis No		Engine No		Mileage	
Color		Cubic Capacity			
Multiple D	ocuments Upload				1
		Upload Multiple	e Documents		
File Nan	ne			Action	
Surveyor 3	Job Remarks				
Remarks				Save	

SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy ability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. This report will be forwarded by the insurers of the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore(GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

	ACCIDENT STATEMENT	
Date Of Report	09/12/2017 14:57	
Date Of Accident	09/12/2017 09:55	
Exact Location Of Accident	CTE TOWARDS ORCHARD	
Country/State of Loss	SINGAPORE	
	DETAILS OF OWN VEHICLE	

Vehicle Registration Number SLL6990Y

Insured/Policyholder

Name Of Registered Owner GRAB RENTALS PTE LTD

Co Reg No 201617200G Email Address NOEMAIL

Mobile Phone No

Alternative Phone No OFFICE-98238290

Vehicle Particulars

Manufacturer MAZDA

Model 3-1.5 SEDAN L SP.6EAT (A)

Exact Purpose for which vehicle was being used at

time of accident

HIRE AND REWARD

Are you claiming under your own insurance policy

for repair to your vehicle?

NO

If No, Please state action to be taken THIRD PARTY

Vehicle Category PRIVATE HIRE

Insurance Company

Name of Insurance Company GREAT AMERICAN INSURANCE COMPANY

Type Of Coverage COMPREHENSIVE

Fleet Policy YES

Policy Number

Cover Note Number MTGRAB20170420

Driver

Name of Driver RAZIB BIN BAHROM

 NRIC No
 \$1558188C

 Date Of Birth
 27/07/1962

 Occupation
 OUTDOOR

 Date Of Driving Pass
 08/03/1997

Driving Experience 20 YEARS AND 9 MONTHS

Gender MALE

Mobile Number (LOCAL) +65-98235518

Fax Number

Contact Number

EMail Address RAZIBGARY@GMAIL.COM

BLK 117 YISHUN RING ROAD Address

#02-603

760117 Postcode

NO Was driver an employee of the Insured's Company

OTHER - HIRER If No, Relationship of the Driver with the Insured

Vehicle Registration Number of Driver's Own

Vehicle

Insurance Company of Driver's Own Vehicle

NO

General Information of the Accident

Type Of Accident CHAIN COLLISION

Weather Conditions **CLEAR** DRY Road Surface

Other Information

Was any foreign vehicle involved in this accident? NO Was any body injured in the Accident? NO Was any other material or property damaged? YES

I have been approached by unknown person(s) soliciting/offering accident claims assistance.

Number of Passengers (Including Driver) 2

Details of Police Action

Was the accident reported to the police? NO

If Yes, Please state which Police Station

Was notice of intended Prosecution given? NO

If Yes, against whom?

Circumstances of Accident

On 09.12.2017 at about 0950hrs, I was travelling in my vehicle (A: SLL6990Y) at the 1st lane along CTE towards Orchard Road. The traffic flow was moderate. When the vehicle ahead (D: SLN1706A) stopped, I followed suit. While stationary, I felt an impact from the rear of my vehicle and realized that a vehicle (B:SHA5217J) hit onto the rear of my vehicle. Due to the impact, my vehicle surged forward and hit onto the rear of a vehicle (D: SLN1706A). Upon alighted, I realized it was a chain collision involving a total of 5 vehicles ie. Vehicle C: SJX686B hit onto the rear of vehicle B. Vehicle B hit onto the rear of my vehicle. My vehicle hit onto vehicle D and vehicle D hit onto a vehicle E: SJM4526L. Vehicle A (SLL6990Y) - 1 passenger onboard Vehicle B (SHA5217J) - 1 passenger onboard Vehicle C (SJX686B) - 1 passenger on board. Vehicle D(SLN1706A) - no passenger on board Vehicle E(SJM4526L) - not sure

Attachment(s)

Are accident photos available for attachment? YES Was there any video captured by Car Camera? YES Was there any audio recorded? NO

DETAILS OF OTHER VEHICLE PROPERTY 1

SHA5217J Vehicle Registration Number

Vehicle Make/Model/Colour

Details Of Properties

Name of Driver

NRIC/Passport Number

Contact Number

Address

Postcode

Insurance Company Name

Nature Of Damage

No. Of Passenger (Including Driver)

Details of Witness

Name

Phone Number

Email Address

Sketch Plan Pg. 1

SKETCH PLAN

IMPORTANT NOTICE

- Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- 3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- 4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgment of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that:

- My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "insurers"), the insurers' lawyers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of:
 - (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
 - (ii) investigating the accident and/or my claims;
 - (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
 - (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
 - (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.(collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the Insurers' lawyers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their lawyers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.
- my Personal Information will also be collected and used to compile claims history for the purpose of fraud detection, investigation and management in present and all future claims.
- (e) the information so collected under (d) above may be shared / disclosed:
 - (i) to all insurers and/or any other third parties that assist in evaluating, investigating, controlling or managing fraud, regulators, law enforcement and government agencies as reasonably required for the purposes stated, or
 - (ii) for complying with requirements under any regulations, laws or court orders.

Policyholder's Signature Date & Time:

Driver's Signa (If driver is not the policyholder)

Date & Time:

Reporting Cent

NRIC/FIN No.:

Sketch Plan Pg. 2

SKETCH PLAN		1	(·)		,
A-SLL 6990Y			E		
B.SHA 5217J	(F(T)				
CSIX 686B+	(, C+);	, <u> </u>	되		
D SIN1706A	-	1			
E. SJM4526L					
0 301.10202			В		
CTE towards Ord		CTE			
DESCRIBE CIRCUMSTANCES		en n (
β	eter to G	(A) Peport			
				<u>,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</u>	:
		 		<u> </u>	
			<u> </u>		
DECLARATION I/We declare the foregoing partic	ulars are true in every r	espect.			
	fan) 1.	2		
Policyholder's Signature Date & Time:	Oriver's Signature (If driver is not th Date & Time:	e policyholder) Blim 2017	Reporting Ce Name: NRIC/FIN No.	ntro Personnel's Signature	, <u> </u>
TARRY SERVICE CONTRACTOR		@ heading-	,	₩ 1010'''	. /

Enquire PARF/COE Rebate for Registered Vehicle

Vehicle Owner Particulars

Owner ID Type Company
Owner ID 7200G

Vehicle Details

Vehicle No. SLL6990Y

Vehicle to be Exported Yes

Intended De-registration Date 09 Dec 2017

Vehicle Make MAZDA

Vehicle Model MAZDA3 4-DOOR SEDAN 1.5L SP.6EAT

Primary Colour Blue
Manufacturing Year 2017

Engine No. P520432333

Chassis No. JM6BN22A8H0144986

Maximum Power Output 88.0 kW (118 bhp)

Open Market Value \$14,688.00

Original Registration Date 07 Mar 2017
First Registration Date 07 Mar 2017

Transfer Count 0

Actual ARF Paid \$9,688.00

Intended PARF Rebate Details

PARF Eligibility Yes

PARF Eligibility Expiry Date 06 Mar 2027
PARF Rebate Amount \$7,266.00

ntended COE Rebate Details

COE Expiry Date 06 Mar 2027

COE Category A - Car up to 1600cc & 97kW (130bhp)

COE Period(Years) 10

 QP Paid
 \$48,401.00

 COE Rebate Amount
 \$38,720.00

 Total Rebate Amount
 \$45,986.00

The information contained herein is correct as at 09 Dec 2017

genise

ENGINEERING & TRADING PTE LTD

GST / ROC COMPANY NO: 201101753C

Quotation

F	r۸	m	4
		111	4

PEGASUS ENGINEERING & TRADING PTE LTD

C/O 51 DEFU LANE 10 SINGAPORE 539216

Officer in Charge: BRYCE TAM YIK MAN TP 15+ (a)

Tel:

Email:

Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY

SINGAPORE 573960

Attn: Tel:

Fax:

Quotation Date : 09/12/2017	Terms: 30 DAYS	
Chassis No : JM6BN22A8H0144986	Third Party Insurer :	
	Date of Accident :	
		Chassis No : JM6BN22A8H0144986 Third Party Insurer :

ITEM	DESCRIPTION	QTY	UNIT PRICE	AMOUNT (SGD)
1	BOOTLID Distance	1	958.0000	958.00
2	BOOTLID MAZDA 3 BADGE	1	54.0000	54.00/
3	BOOTLID SKYACTIV BADGE	1	64.0000	64.00
4	BOOTLID CENTRE EMBLEM BADGE	1	75.0000	75.00
5	BOOTLID REFLECTOR RH Coudad	2	265.0000	530.00
6	BOOTLID INNER TRIM De Colore &	1	121.0000	121.00
7	BOOTLID INNER TRIM CLIPS 1400	6	5.0000	30.00
8	BOOTLID RUBBER STOPPER NW	2	13.0000	26.00
9	BOOTLID LOCK Daneyed	1	153.0000	153.00 /
10	BOOTLID LOCK STRIKER BOTTOM Bent	1	35.0000	35.00
11	BOOTLID WEATHERSTRIP W	1	130.0000	130.00 /
<u>)</u> 12	BOOTLID HINGE HAR NEW	2	146.0000	292.00 ×
13	BOOTLID HINGE COVER NOW MAN	2	34.0000	68.00
14	BOOTLID HINGE COVER CLIP Hot New	6	5.0000	30.00 ⊀
15	BOOTLID TENSIONER SPRING ROD KILL NIW	1	189.0000	189.00 X
16	BOOTLID INDICATION LIGHT Not when	1	39.0000	39.00 ⊀
17	BOOTLID KEYLESS SENSOR Dand	1	88.0000	88.00 /
18	REAR LICENCE PLATE LAMP Not New	2	72,0000	144.00×
19	REAR END PANEL Distorted	1	506.0000	506.00 /
20	REAR END PANEL INNER TRIM Defolmed	1	86.0000	86.00 /
21	REAR END PANEL INNER TRIM CLIPS	4	5.0000	20.00 /
22	REAR LUGGAGE FLOOR PANEL Penis	1	554.0000	554.00 ×
23	REAR LUGGAGE FLOOR PANEL COMPARTMENT FOAM No ME	1	169,0000	169.00 🗶

GST / ROC COMPANY NO: 201101753C

Quotation

-rom	om
------	----

PEGASUS ENGINEERING & TRADING PTE LTD

C/O 51 DEFU LANE 10 SINGAPORE 539216

Officer in Charge: BRYCE TAM YIK MAN

Tei : Email : **Customer:**

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn : Tel :

Fax:

Quotation No : QO17/12-1097	Quotation Date: 09/12/2017	Terms: 30 DAYS	
Vehicle No : SLL6990Y	Chassis No : JM6BN22A8H0144986	Third Party Insurer :	
Model: MAZDA 3		Date of Accident :	
marks : TP INSURER: FCI , INS	URED VEHICLE NO: SHA5217J:, DATE OF AC	CCIDENT: 09.12.2017	

ITEM	DESCRIPTION	QTY	UNIT PRICE	AMOUNT (SGD)
		*		B/F 0.00
24	REAR LUGGAGE FLOOR PANEL TRIMBOARD	1	355,0000	355.00∕
25	SPARE TYRE FASTENER CLAMP & AH IN-	1	40.0000	40.00 X
26	SPARE TYRE MECHINICAL JACK	1	128.0000	128.00 <i>X</i>
27	REAR WINDSHIELD GLASS WEATHERSTRIP HEC	1	68.0000	68.00 <
28	REAR LAMP Coulced.	2	509.0000	1,018.00 <
29	REAR LAMP CLIP HOLDER HW	4	8.0000	32.00 <
30	REAR LAMP PANEL Regis	2	78.0000	156.00 ^入
31	REAR FENDER RH Buddled	2	1,175.0000	2 ,350.00 -
32	REAR FENDER INNER TRIM LA De la Color	2	236.0000	472.00
33	REAR FENDER INNER TRIM CLIPS 144	12	5.0000	60.00
34	REAR FENDER AIR VENT Hat HEL	2	72.0000	144.00 X
35	REAR FENDER LOWER END EXTENSION PANEL &	2	122.0000	244.00 <i>×</i>
36	REAR BUMPER Distorted	1	1,075.0000	1,075.00 <
37	REAR BUMPER REFLECTOR LH wt	2	51.0000	102:00 5
38	REAR BUMPER SIDE RETAINER 7	2	46.0000	92.00
39	REAR BUMPER SIDE HOLDER	2	37.0000	74.00
40	REAR BUMPE CLIP MIC	10	5.0000	- 50.00 -30
41	REAR BUMPER REINFORCEMENT Distorted	1	538.0000	538.00 /
42	REAR BUMPER SIDE HOLDER RIVETS ***	4	8.0000	32.00 /
43	REAR BUMPER TOW COVER Delimed	2	17.0000	34.00 ~
44	REAR BUMPER SCREW SPACER 2	2	8.0000	16.00
45	REAR BUMPER SPACER SCREW	2	10,0000	20.00 <

C/F 0.00 Page 2 of 7



GST / ROC COMPANY NO: 201101753C

Quotation

•					
•	•	^	м	•	- 13

PEGASUS ENGINEERING & TRADING PTE LTD

C/O 51 DEFU LANE 10 SINGAPORE 539216

Officer in Charge: BRYCE TAM YIK MAN

Tel: Email: Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn:

Tel:

Fax:

BN22A8H0144986 Third Party Insurer :
Date of Accident :
6

ITEM	DESCRIPTION	QTY	UNIT PRICE	AMOUNT (SGD)
	C			B/F 0.00
46	REAR EXHAUST BOX	1	953.8000	953.80 ×
47	REAR EXHAUST BOX HEATSHIELD 1	6	100.8000	604.80 [×]
48	REAR EHAUST BOX MOUNT 14 MM	2	37.4000	74.80 ×
49	BONNET Buckled.	1	1,068.1000	1,068.10 /
50	BONNET LOCK Not M	1	198.0000	198.00 🗡
51	BONNET UNDERSEAL WEATHERSTRIP CLIPS	1	5.0000	5.00₺,
52	BONNET LOCK STAY ZHE M	1	38.0000	38.00
53	BONNET LOCK COVER)	1	18.0000	18.00
54	BONNET LOCK CABLE AND NEW	1	53.0000	53.00 ×
55	FRONT SUPPORT PANEL-METAL But	1	140.0000	140.00 /
()56	FRONT SUPPORT PANEL-FIBRE Not me	1	470.0000	470.00 X
57	HEADLAMP ME NEW	2	1,020.0000	2,040.00 🔀
58	RADIATOR ASSY Couleed	1	1,065.0000	1,065.00 /
59	RADIATOR TOP MOUNT BUSH	2	37.0000	74.00
60	RADIATOR TOP MOUNT LOCK CLIP No.	2	11.0000	22.00 <
61	RADIATOR BOTTOM MOUNT BUSH	2	20.0000	40.00
62	RADIATOR GRILLE coulced	1	129.0000	129.00 /
63	RADIATOR GRILLE CHROME GARNISH Cauled	2	183.0000	366.00
64	RADIATOR GRILLE CHROME GARNISH BASE	2	20.0000	40.00
65	RADIATOR GRILLE INNER SIDE BRACKET	1	13.0000	13.00
66	RADIATOR GRILLE INNER SIDE BRACKET WHITE CLIP	w 2	5.0000	10.00
67	RADIATOR GRILLE INNER SIDE BRACKET WHITE CLIP HOLDER	2	5.0000	10.00

GST / ROC COMPANY NO: 201101753C

Quotation

c		-	-
_	ı		

PEGASUS ENGINEERING & TRADING PTE LTD

C/O 51 DEFU LANE 10 SINGAPORE 539216

Officer in Charge: BRYCE TAM YIK MAN

Tel: Email: Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn:

Tel:

Fax:

Quotation No : Q017/12-1097	Quotation Date : 09/12/2017	Terms: 30 DAYS	
Vehicle No : SLL6990Y	Chassis No : JM6BN22A8H0144986	Third Party Insurer :	
Model : MAZDA 3		Date of Accident :	

ITEM	DESCRIPTION	QTY	UNIT PRICE	AMOUNT (SGD)
	- ed			B/F 0.00
68	RADIATOR GRILLE SIDE COVER Danyed	2	13.0000	26.00 -
69	RADIATOR GRILLE OUTER GARNISH &	1	339,0000	339.00~
70	RADIATOR GRILLE OUTER GARNISH RIVETS	4	9.0000	36.00 /
71	RADIATOR GRILLE OUTER GARNISH CLIPS ~~	3	4.3000	12.90
72	RADIATOR GRILLE SUPPORT Cauled	. 1	185.0000	185.00 ~
73	RADIATOR GRILLE OUTER GARNISH SUPPORT TOP COVER 2200	1	40.0000	40.00 -
74	RADIATOR GRILLE OUTER GARNISH SUPPORT TOP COVER CLIP	~~ 6	5.0000	30.00 ~
75	RADIATOR GRILLE EMBLEM BADGE + 1	1	59.0000	59.00
76	RADIATOR GRILLE CLIPS	8	8.7000	<u>-60-00</u> /4
77	RADIATOR TOP HOSE	1	60,0000	60.00 4
78	RADIATOR EXPANSION TANK	1	66.0000	66.00£
79	RADIATOR BOTTOM HOSE	1	74.0000	74.00 <i>*</i>
80	AIR CON PIPE-CONDENSER TO COMPRESSOR MM M	1	464.0000	464.00
81	AIR CON CONDENSER Beat	1	987.0000	987.00
82	WINDSHIELD WASHER TANK	1	105.0000	105.00 🗡
83	WINDSHIELD WASHER TANK MOTOR	1	68.0000	68.00 /
84	WINDSHIELD WASHER TANK FILLER NECK	1	35.0000	35.00 +
85	FRONT FENDER Revis	2	334.0000	668.00 A
86	FRONT FENDER INNER COWLING 2	2	130.0000	260.00 *
87	FRONT FENDER INNER COWLING CLIP (APP NEW	6	4.0000	24.00 [×]
88	FRONT FENDER STAY BRACKET	3	45.1000	135.30 [×]
89	HEADLAMP HIP M	2	1,020.0000	2,040.00 <i>*</i>

C/F 0.00 Page 4 of 7



GST / ROC COMPANY NO: 201101753C

Quotation

From:
PEGASUS ENGINEERING & TRADING PTE LTD C/O 51 DEFU LANE 10 SINGAPORE 539216
Officer in Charge : BRYCE TAM YIK MAN Tel : Email :

Customer:	
GRAB RENTALS PTE LTD	
18 SIN MING LANE	
#01-08 MIDVIEW CITY	
SINGAPORE 573960	
Attn:	
Tel:	
Fax:	

Quotation No : QO17/12-1097	Quotation Date : 09/12/2017	Terms: 30 DAYS	
Vehicle No : SLL6990Y	Chassis No : JM6BN22A8H0144986	Third Party Insurer :	
Model : MAZDA 3		Date of Accident :	
marks : TP INSURER: FCI , INS	URED VEHICLE NO: SHA5217J:, DATE OF AC	CCIDENT: 09.12.2017	

ITEM	DESCRIPTION	QTY	UNIT PRICE	AMOUNT (SGD)
	0			B/F 0.00
90	FRONT BUMPER Deliand	1	826.0000	826.00
91	FRONT BUMPER REINFORCEMENT	1	480.0000	480.00
92	FRONT BUMPER REINFORCEMENT COVER	1	67.0000	67.00
93	FRONT BUMPER CLIPS + WELL NA	4	2.0000	8.00 🗡
94	FRONT BUMPER AIR GUIDE	2	56.0000	112.00 /
95	FRONT BUMPER AIR GUIDE CLIPS >	6	4.5000	27.00 /
96	FRONT BUMPER INDICATION LIGHT	2	140.0000	280.00⊁
97	FRONT BUMPER INDICATION LIGHT GARNISH	2	25.0000	50.00
98	FRONT BUMPER INDICATION LIGHT GARNISH EXTENSION	2	48.0000	96.00×
99	FRONT BUMPER LOWER SPLASHIELD COVER	1	84.0000	84.00 >
()00	FRONT BUMPER LOWER SPLASHIELD COVER CLIPS	6	4.5000	27.00 ×
101	FRONT BUMPER LOWER SUPPORT GARNISH	1	96.0000	96.00 ≺
102	FRONT BUMPER LOWER CENTRE AIR GRILLE SIDE COVER Mashing	<u>,</u> 2	35.0000	70.00
103	FRONT BUMPER TOW COVER Deformed	1	32.0000	32.00
104	FRONT BUMPER CLIPS	8	4.5000	36.00
105	FRONT LICENCE PLATE GARNISH De forme	1	71.0000	71.00 /
106	REAR BUMPER END SPLASHEID COVER Defonded	2	80.0000	160.00
107	LESS 20% ITEMS(1-106)	1	-5,439.8600	-5,439.86
108	REAR WINDSHIELD GLASS SEALANT	1	180.0000	180:0060
109	REAR WINDSHIELD GLASS SPONGE SEAL M	1	100.0000	100:00 4-0
110	REAR LUGGAGE FLOOR INSULATOR	1	250.0000	سكر 250.00
111	REAR BUMPER PARKING SENSOR Dange	1	450.0000	450.00 20

GST / ROC COMPANY NO: 201101753C

Quotation

From:	•

PEGASUS ENGINEERING & TRADING PTE LTD

C/O 51 DEFU LANE 10 SINGAPORE 539216

Officer in Charge: BRYCE TAM YIK MAN

Tel: Email: Customer:

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn: Tel:

Fax:

Quotation No : QO17/12-1097	Quotation Date : 09/12/2017	Terms: 30 DAYS	
Vehicle No : SLL6990Y	Chassis No : JM6BN22A8H0144986	Third Party Insurer :	
Model: MAZDA 3		Date of Accident :	
marks : TP INSURER: FCI , INS	URED VEHICLE NO: SHA5217J:, DATE OF A	CCIDENT: 09.12.2017	

ITEM	DESCRIPTION	QTY	UNIT PRICE	AMOUNT (SGD)
	FRONT LICENCE PLATE BOX		B/	
112	THORT EIGENOUT DITE	1	80.0000	80.00
113	REAR LICENCE PLATE Bent	1	80.0000	80.00 6
114	RADIATOR COOLANT W	1	50,0000	50.00 4
115	TOWING	1	100.0000	190.00 6
116	TO REINSTALL OF REAR BUMPER PARKING SENSOR AND SIMULATION TEST	1	180.0000	180.00 3
117	TO REMOVE AND REFIT INTERIOR FITTINGS, TRIMMINGS, GARNISH AND OTHER, TO ENABLE REPAIR.	1	250.0000	250 :00 ^D
118	TO RUST-PROOFING OF THE AFFECTED AREAS.	1	280.0000	280.00
119	TO DROP REAR EXHAUST BOX AND RENEW THE SAME	1	150.0000	150.00 λ
120	TO REMOVE AND REFIT REAR WINDSCREEN GLASS.	1	180.0000	180.00 1
<u></u> 21	TO PLACE VEHICLE ON JIG BENCH TO OBTAIN CROSS AND PARALLEL MEASUREMENT AND CORRECT TO MANUFACTURER SPECIFICATION WITH HYDRAULIC PNEUMATIC JACK.	1	650,0000	650.00
122	TO TRANSFER OF BOOTLID FITTINGS, ATTACHMENTS AND PERFORM WATER SEEPAGE TEST.	1	150.0000	150.00 S 80.00 G 2,890.00 A
123	TO CHECK ELECTRICAL LIGHTING CONCERNED.	1	80.0000	80.00
124	PANEL BEATING, KNOCKING AND STRAIGHTEN THE NECESSARY PORTION, REMOVE AND RENEWAL OF PARTS, ADJUST AND REALIGN THE SAME.	1	2,800.0000	
125	PUTTY AND SPRAY PAINTING OF THE AFFECTED PORTION.	1	2,000.0000	2,000:00
126	TO DISMANTLE AIR-CON ASSY, REMOVE AND RENEWAL OF PARTS, VACUUM AND CHARGE-IN GAS.	1	250.0000	2,008:00 250:00 \ 2

C/F 0.00 Page 6 of 7



GST / ROC COMPANY NO: 201101753C

Quotation

PEGASUS ENGINEERING & TRADING PTE LTD

C/O 51 DEFU LANE 10 SINGAPORE 539216

Officer in Charge: BRYCE TAM YIK MAN

Tel: Email: **Customer:**

GRAB RENTALS PTE LTD

18 SIN MING LANE #01-08 MIDVIEW CITY SINGAPORE 573960

Attn: Tel:

Fax:

Quotation Date : 09/12/2017	Terms: 30 DAYS	
Chassis No : JM6BN22A8H0144986	Third Party Insurer :	
Model: MAZDA 3 Date of Accident:		
		Chassis No : JM6BN22A8H0144986 Third Party Insurer :

	ITEM	DESCRIPTION	QTY	UNIT PRICE	AMOU	NT (SGD)
•					B/F	0.00
	127	USING ONBOARD SCAN TOLL(OBD) TO PERFORM FULL ENGINE	1	500.0000		500.00 X

DIAGNOSIC CHECK, TO CONFIGURE AND CLEAR, RESET SRS AND SERVICE LIGHT AND TO MANUFACTURER'S DEFAULT SETTING

List 13751 Labour 4250. Len 20/ 1100080 Hotal 15710.80 S.N. 460 LS 125K

130ays.

LKK Auto Consultants hence notify

the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer Signature:

Sub Total GST(7.00%) Total (SGD)

30,519.44 2,136.36 32,655.80

Date: Please conduct the survey at

Pegasus Engineering @ Tan Lim Motor Pte Ltd c/o 51 Defu Lane 10 Singapore 539216



Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internat		
FIRST CAPITAL INSU	RANCE LTD	Ref : CS/FCI17023	3563/Atbe2
36 ROBINSON ROAD #16-01 CITY HOUSES	INGAPORE 068877	Date: 30-04-2018	
		Code: FCI2	
	Policy Particular	S :: THIRD PARTY CE	AIM
Insured Veh.	SHA 5217J	Veh. Inspected	SLL 6990Y
Policy No.	D-15072701MFSH	Coverage (\$)	0.00
Claim No.	D17011371MFSH	Excess (\$)	0.00
Assign From	JOANNE YONG	Assign Date	12/12/2017
	Vehicle Par	ticulars & Condition	
Make & Model	MAZDA 3	c.c	1496
Engine No.	HIDDEN	Year of Reg.	2017
Chassis No.	JM6BN22A8H0144986	Colour	BLUE
Odometer	54576	Steering	IN ORDER
Brakes	IN ORDER	Modification	STANDARD ALLOY RIM
General	GOOD		
	Condi	tions of Tyres	
	Size	Make	Balance
R/H Front Tyre	205/60 R16	TOYO	6 mm
L/H Front Tyre	205/60 R16	TOYO	6 mm
R/H Rear Tyre	205/60 R16	TOYO	6 mm
L/H Rear Tyre	205/60 R16	TOYO	6 mm
	Descrip	ionorDamages	
THE VEHICLE SU	STAINED DAMAGES AT THE R	EAR PORTION.	
DAMAGES SEE D	ETAILS.		
· · · · · · · · · · · · · · · · · · ·	Gener € Care	al information :	
Accident Date	09/12/2017	Inspection Date	13/12/2017
Survey held at	51 DEFU LANE 10		
Repairer	PEGASUS ENGINEERING & 1	RADING PTE LTD	
a		Remarks y sag	
B)THE INSPECTION	ISISTENT TO ACCIDENT REPO ON WAS CONDUCTED ON A'W DE TO YOUR INSTRUCTIONS,	ITHOUT PREJUDICE" BA	ASIS. RISED REPAIRS.
ib; · · · · · · · · · · · · · · · · · · ·		e Dayskof Repair	
20 RESERVED 400 TO 10 10 10 10 10 10 10 10 10 10 10 10 10	MAL PERIOD FOR REPAIR:	13 Working	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 5

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SLL 6990Y

Qty	Description of Parts	. Condition	Estimate By Workshop (5))	Oil Adjusted.
	REPLACEMENT OF PARTS			
1	BOOTLID	DISTORTED	958.00	958.00
1	BOOTLID MAZDA 3 BADGE	NECESSARY	54.00	54.00
1	BOOTLID SKYACTIV BADGE	NECESSARY	64.00	64.00
1	BOOTLID CENTRE EMBLEM BADGE	NECESSARY	75.00	75.00
2	BOOTLID REFLECTOR @\$265.00	O/S CRACKED	530.00	265.00
1	BOOTLID INNER TRIM	DEFORMED	121.00	121.00
6	BOOTLID INNER TRIM CLIPS @\$5.00	NECESSARY	30.00	30.00
2	BOOTLID RUBBER STOPPER @\$13.00	NECESSARY	26.00	26.00
1	BOOTLID LOCK	DAMAGED	153.00	153.00
1	BOOTLID LOCK STRIKER BOTTOM	BENT	35.00	35.00
1	BOOTLID WEATHERSTRIP	сит	130.00	130.00
2	BOOTLID HINGE @\$146.00	NOT NECESSARY	292.00	-
2	BOOTLID HINGE COVER @\$34.00	NOT NECESSARY	68.00	-
6	BOOTLID HINGE COVER CLIP @\$5.00	NOT NECESSARY	30.00	-
1	BOOTLID TENSIONER SPRING ROD	NOT NECESSARY	189.00	-
1	BOOTLID INDICATION LIGHT	NOT NECESSARY	39.00	-
1	BOOTLID KEYLESS SENSOR	DAMAGED	88.00	88.00
2	REAR LICENSE PLATE LAMP @\$72.00	NOT NECESSARY	144.00	-
1	REAR END PANEL	DISTORTED	506.00	506.00
1	REAR END PANEL INNER TRIM	DEFORMED	86.00	86.00
4	REAR END PANEL INNER TRIM CLIPS @\$5.00	NECESSARY	20.00	20.00
1	REAR LUGGAGE FLOOR PANEL	TO REPAIR SEE LABOUR	554.00	-
1	REAR LUGGAGE FLOOR PANEL COMPARTMENT FOAM	NOT NECESSARY	169.00	-
1	REAR LUGGAGE FLOOR PANEL TRIMBOARD	NOT NECESSARY	355.00	-
1	SPARE TYRE FASTENER CLAMP	NOT NECESSARY	40.00	-
1	SPARE TYRE MECHINICAL JACK	NOT NECESSARY	128.00	-
1	REAR WINDSHIELD GLASS WEATHERSTRIP	NECESSARY	68.00	68.00
2	REAR LAMP @\$509.00	CRACKED	1,018.00	1,018.00
4	REAR LAMP CLIP HOLDER @\$8.00	NECESSARY	32.00	32.00
2	REAR LAMP PANEL @\$78.00	TO REPAIR SEE LA	156.00	-



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 5

Qty	Description of Parts	- Condition	Movements Wovenieskow	
2	REAR FENDER @\$1175.00	O/S BUCKLED	2,350.00	1,175.00
2	REAR FENDER INNER TRIM @\$236.00	N/S DEFORMED	472.00	236.00
12	REAR FENDER INNER TRIM CLIPS @\$5.00	NECESSARY	60.00	60.00
2	REAR FENDER AIR VENT @\$72.00	NOT NECESSARY	144.00	-
2	REAR FENDER LOWER END EXTENSION PANEL @\$122.00	TO REPAIR SEE LABOUR	244.00	-
1	REAR BUMPER	DISTORTED	1,075.00	1,075.00
2	REAR BUMPER REFLECTOR @\$51.00	N/S BENT	102.00	51.00
2	REAR BUMPER SIDE RETAINER @\$46.00	NECESSARY	92.00	92.00
2	REAR BUMPER SIDE HOLDER @\$37.00	NECESSARY	74.00	74.00
10	REAR BUMPER CLIP @\$5.00	NECESSARY	50.00	30.00
1	REAR BUMPER REINFORCEMENT	DISTORTED	538.00	538.00
4	REAR BUMPER SIDE HOLDER RIVETS @\$8.00	NECESSARY	32.00	32.00
2	REAR BUMPER TOW COVER @\$17.00	DEFORMED	34.00	34.00
2	REAR BUMPER SCREW SPACER @\$8.00	NECESSARY	16.00	16.00
2	REAR BUMPER SPACER SCREW @\$10.00	NECESSARY	20.00	20.00
1	REAR EXHAUST BOX	NOT NECESSARY	953.80	-
6	REAR EXHAUST BOX HEATSHIELD @\$100.80	NOT NECESSARY	604.80	-
2	REAR EXHAUST BOX MOUNT @\$37.40	NOT NECESSARY	74.80	-]
1	BONNET	BUCKLED	1,068.10	1,068.10
1	BONNET LOCK	NOT NECESSARY	198.00	-
1	BONNET UNDERSEAL WEATHERSTRIP CLIPS	NOT NECESSARY	5.00	-
1	BONNET LOCK STAY	NOT NECESSARY	38.00	-
1	BONNET LOCK COVER	NOT NECESSARY	18.00	-
1	BONNET LOCK CABLE	NOT NECESSARY	53.00	-
1	FRONT SUPPORT PANEL - METAL	BENT	140.00	140.00
1	FRONT SUPPORT PANEL - FIBRE	NOT NECESSARY	470.00	-
2	HEADLAMP @\$1020.00	NOT NECESSARY	2,040.00	-
1	RADIATOR ASSY	CRACKED	1,065.00	1,065.00
2	RADIATOR TOP MOUNT BUSH @\$37.00	NECESSARY	74.00	74.00
2	RADIATOR TOP MOUNT LOCK CLIP @\$11.00	NECESSARY	22.00	22.00
2	RADIATOR BOTTOM MOUNT BUSH @\$20.00	NECESSARY	40.00	40.00
1	RADIATOR GRILLE	CRACKED	129.00	129.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 5

Qty	Description of Parts	Condition	Teimer iv Was same	ony Guerea La Stein
2	RADIATOR GRILLE CHROME GARNISH @\$183.00	CRACKED	366.00	366.00
2	RADIATOR GRILLE CHROME GARNISH BASE @\$20.00	DAMAGED	40.00	40.00
1	RADIATOR GRILLE INNER SIDE BRACKET	NECESSARY	13.00	13.00
2	RADIATOR GRILLE INNER SIDE BRACKET WHITE CLIP @\$5.00	NECESSARY	10.00	10.00
2	RADIATOR GRILLE INNER SIDE BRACKET WHITE CLIP HOLDER @\$5.00	NECESSARY	10.00	10.00
2	RADIATOR GRILLE SIDE COVER @\$13.00	DAMAGED	26.00	26.00
1	RADIATOR GRILLE OUTER GARNISH	DEFORMED	339.00	339.00
4	RADIATOR GRILLE OUTER GARNISH RIVETS @\$9.00	NECESSARY	36.00	36.00
3	RADIATOR GRILLE OUTER GARNISH CLIPS @\$4.30	NECESSARY	12.90	12.90
1	RADIATOR GRILLE SUPPORT	CRACKED	185.00	185.00
1	RADIATOR GRILLE OUTER GARNISH SUPPORT TOP COVER	DEFORMED	40.00	40.00
6	RADIATOR GRILLE OUTER GARNISH SUPPORT TOP COVER CLIP @\$5.00	NECESSARY	30.00	30.00
1	RADIATOR GRILLE EMBLEM BADGE	NECESSARY	59.00	59.00
8	RADIATOR GRILLE CLIPS @\$8.70	NECESSARY	69.60	16.00
1	RADIATOR TOP HOSE	NOT NECESSARY	60.00	-
1	RADIATOR EXPENSION TANK	NOT NECESSARY	66.00	-
1	RADIATOR BOTTOM HOSE	NOT NECESSARY	74.00	-
1	AIR CON PIPE-CONDENSER TO COMPRESSOR	NOT NECESSARY	464.00	-
1	AIR CON CONDENSER	BENT	987.00	987.00
1	WINDSHIELD WASHER TANK	NOT NECESSARY	105.00	-
1	WINDSHIELD WASHER TANK MOTOR	NOT NECESSARY	68.00	-
1	WINDSHIELD WASHER TANK FILLER NECK	NOT NECESSARY	35.00	-
2	FRONT FENDER @\$334.00	TO REPAIR SEE LABOUR	668.00	-
2	FRONT FENDER INNER COWLING @\$130.00	NOT NECESSARY	260.00	-
6	FRONT FENDER INNER COWLING CLIP @\$4.00	NOT NECESSARY	24.00	-
3	FRONT FENDER STAY BRACKET @\$45.10	NOT NECESSARY	135.30	-[
2	HEADLAMP @\$1020.00	NOT NECESSARY	2,040.00	-
1	FRONT BUMPER	DEFORMED	826.00	826.00
1	FRONT BUMPER REINFORCEMENT	BENT	480.00	480.00
1	FRONT BUMPER REINFORCEMENT COVER	DEFORMED	67.00	67.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 5

Qty	Description of Parts	• Condition **	Eginoraliya Wolshida(6))	
4	FRONT BUMPER CLIPS @\$2.00	NOT NECESSARY	8.00	-
2	FRONT BUMPER AIR GUIDE @\$56.00	DEFORMED	112.00	112.00
6	FRONT BUMPER AIR GUIDE CLIPS @\$4.50	NECESSARY	27.00	27.00
2	FRONT BUMPER INDICATION LIGHT @\$140.00	NOT NECESSARY	280.00	-
2	FRONT BUMPER INDICATION LIGHT GARNISH @\$25.00	NOT NECESSARY	50.00	-
2	FRONT BUMPER INDICATION LIGHT GARNISH EXTENSION @\$48.00	NOT NECESSARY	96.00	-
1	FRONT BUMPER LOWER SPLASHIELD COVER	NOT NECESSARY	84.00	-
6	FRONT BUMPER LOWER SPLASHIED COVER CLIPS @\$4.50	NOT NECESSARY	27.00	-
1	FRONT BUMPER LOWER SUPPORT GARNISH	NOT NECESSARY	96.00	-
2	FRONT BUMPER LOWER CENTRE AIR GRILLE SIDE COVER @\$35.00	MISSING	70.00	70.00
1	FRONT BUMPER TOW COVER	DEFORMED	32.00	32.00
8	FRONT BUMPER CLIPS @\$4.50	NECESSARY	36.00	36.00
1	FRONT LICENSE PLATE GARNISH	DEFORMED	71.00	71.00
2	REAR BUMPER END SPLASHIELD COVER @\$80.00	DEFORMED	160.00	160.00
	LESS 20% DISCOUNT		-5,439.86	-2,750.20
			21,759.44	11,000.80
	SPECIAL NETT ITEMS			
1	REAR WINDSHIELED GLASS SEALANT (SN)	NECESSARY	180.00	60.00
1	REAR WINDSHILD GLASS SPONGE SEAL (SN)	NECESSARY	100.00	40.00
1	REAR LUGGAGE FLOOR INSULATOR (SN)	NOT NECESSARY	250.00	-
1	REAR BUMPER PARKING SENSOR (SN)	DAMAGED	450.00	200.00
1	FRONT LICENSE PLATE (SN)	BENT	80.00	60.00
1	REAR LICENSE PLATE (SN)	BENT	80.00	60.00
1	RADIATOR COOLANT (SN)	NECESSARY	50.00	40.00
			1,190.00	460.00
	LABOUR			
	TOWING.		100.00	60.00
	TO REINSTALL OF REAR BUMPER PARKING SENSOR AND SIMULATION TEST.		180.00	50.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:5 of 5

Qty	Description of Parts	- Condition	Parimaelik Vokskopka)	Out // (iji)stad
	TO REMOVE AND REFIT INTERIOR FITTINGS, TRIMMINGS, GARNISH AND OTHERS, TO ENABLE REPAIR,		250.00	80.00
	TO RUST-PROOFING OF THE AFFECTED AREAS.		280.00	80.00
	TO DROP REAR EXHAUST BOX AND RENEW THE SAME.	NOT NECESSARY	150.00	-
	TO REMOVE AND REFIT REAR WINDSCREEN GLASS.		180.00	120.00
	TO PLACE VEHICLE ON JIG BENCH TO OBTAIN CROSS AND PARALLEL MEASUREMENT AND CORRECT TO MANUFACTURER SPECIFICATION WITH HYDRAULIC PNEUMATIC JACK.	NOT NECESSARY	650.00	-
	TO TRANSFER OF BOOTLID FITTINGS, ATTACHMENTS AND PERFORM WATER SEEPAGE TEST.		150.00	80.00
	TO CHECK ELECTRICAL LIGHTING CONCERNED.		80.00	60.00
	PANEL BEATING, KNOCKING AND STRAIGHTEN THE NECESSARY PORTION, REMOVE AND RENEWAL OF PARTS, ADJUST AND REALIGN THE SAME. INCLUSIVE OF THE REPAIR OF REAR LUGGAGE FLOOR PANEL, REAR LAMP PANEL, REAR FENDER LOWER END EXTENSION PANEL AND FRONT FENDER.		2,800.00	2,000.00
	PUTTY AND SPRAY PAINTING OF THE AFFECTED PORTION.		2,000.00	1,600.00
	TO DISMANTLE AIR-CON ASSY, REMOVED AND RENEWAL OF PARTS, VACUUM AND CHARGE- IN GAS.		250.00	120.00
	USING ONBOARD SCAN TOLL (OBD) TO PERFORM FULL ENGINE DIAGNOSIC CHECK, TO CONFIGURE AND CLEAR, RESET SRS AND SERVICE LIGHT AND TO MANUACTURER'S DEFAULT SETTINGS.	NOT NECESSARY	500.00	-
			7,570.00	4,250.00
	GRAND TOTAL		30,519.44	15,710.80

RECOMMENDED COST	OF LUMP SUM REPAIRS	≥ 3.2 2 2 12,500,00
(TO ITS PRE-ACCIDENT	OF LUMP SUM REPAIRS	

Report Ref No. CS/FCI17023563/Atbe2



ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M.MATAI

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Cilent named on the front page of this Report.

No liability of responsibility whatsgever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.